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vuqns'k

1.	 ijh{kk çkjEHk gksus ds rqjUr ckn vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk Nik] iQVk 

;k NwVk gqvk i`"B vFkok ç'uka'k vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaA

2.	 Ñi;k è;ku j[ksa fd OMR mÙkj&i=kd esa mfpr LFkku ij jksy uEcj vkSj ijh{k.k iqfLrdk vuqØe A, B, C 
;k D dks è;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc¼ djus dh ftEesnkjh mEehnokj dh 

gSA fdlh Hkh çdkj dh pwd@folaxfr dh fLFkfr esa mÙkj&i=kd fujLr dj fn;k tk,xkA 

3.	 bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks"Bd esa vkidks

	 viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj dqN u fy[ksaA

4.	 bl ijh{k.k iqfLrdk esa 80 ç'uka'k (ç'u) fn, x, gSaA çR;sd ç'uka'k fgUnh vkSj vaxzsth nksuksa esa Nik gSA çR;sd ç'uka'k 

esa pkj çR;qÙkj (mÙkj) fn, x, gSaA buesa ls ,d çR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 

gSaA ;fn vkidks ,slk yxs fd ,d ls vf/d çR;qÙkj lgh gSa] rks ml çR;qÙkj dks vafdr djsa tks vkidks lokZsÙke yxsA 

çR;sd ç'uka'k ds fy, dsoy ,d gh çR;qÙkj pquuk gSA

5.	 vkidks vius lHkh çR;qÙkj vyx ls fn, x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn, x, funZs'k ns[ksaA

6.	 lHkh ç'uka'kksa ds vad leku gSaA

7.	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu ç'uka'kksa ds çR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 

ços'k çek.k&i=k ds lkFk çsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA

8.	 vki vius lHkh çR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd v/h{kd dks 

lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

9.	 dPps dke ds fy, i=kd] ijh{k.k iqfLrdk ds vUr esa layXu gSaA

10.	 xyr mÙkjksa ds fy, n.M %

	 lHkh ç'uksa esa mEehnokj }kjk fn, x, xyr mÙkjksa ds fy, n.M fn;k tk,xkA 

	 (i)	 çR;sd ç'u ds fy, pkj oSdfYid mÙkj gSA mEehnokj }kjk çR;sd ç'u ds fy, fn, x, ,d xyr mÙkj ds 

fy, ç'u gsrq fu;r fd, x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA

	 (ii)	 ;fn dksbZ mEehnokj ,d ls vf/d mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] ;|fi fn, x, mÙkjksa esa ls 

,d mÙkj lgh gksrk gS] fiQj Hkh ml ç'u ds fy, mi;ZqÙkkuqlkj gh mlh rjg dk n.M fn;k tk,xkA

	 (iii)	 ;fn mEehnokj }kjk dksbZ ç'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml 

ç'u ds fy, dksbZ n.M ugha fn;k tk,xkA

11.	 ç'u ls lacaf/r pqukSrh@vkifÙk% ;fn Nk=kksa dks yxrk gS fd ;k rks ç'u@mÙkjksa dks la'kksf/r djus dh vko';drk  

gS ;k Li"Vhdj.k dh vko';drk gS] rks os lgk;d tkudkjh ds lkFk 15 vizSy] 2024 (izkr% 10:00 cts) rd  

anubhav@nextias.com ij bZ&esy dj ldrs gSaA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysaA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysaA



INSTRUCTIONS
1.	 IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD 

CHECK THAT THIS TEST BOOKLET DOES Not HAVE ANY UNPRINTED OR TORN OR MISSING 
PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2.	 Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test 
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate 
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable 
for rejection.

3.	 You have to enter your Roll Number on the 
	 Test Booklet in the box provided alongside.

4.	 This Test Booklet contains 80 items (Questions). Each item is printed in Hindi and English. Each item 
comprises four responses (Answers). You will select the response which you want to mark on the Answer 
Sheet. In case you feel that there is more than one correct response, mark the response which you consider 
the best. In any case, choose only one response for each item.

5.	 You have to mark all your responses ONLY on the separate answer sheet provided. See directions in the 
Answer Sheet.

6.	 All items carry equal marks.

7.	 Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you 
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your Admission 
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8.	 After you have completed filling in all your responses on the Answer Sheet and the examination has 
concluded, you should hand over to the invigilator only the Answer Sheet. You are permitted to take 
away with you the Test Booklet.

9.	 Sheets for rough work are appended in the Test Booklet at the end.

10.	 Penalty for wrong answers:

	 THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN 
THE OBJECTIVE TYPE QUESTION PAPERS.

	 (i)	 There are four alternatives for the answer to every question. For each question for which a wrong 
answer has been given by the candidate, one-third of the marks assigned to that question will be 
deducted as penalty.

	 (ii)	 If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the 
given answers happens to be correct and there will be same penalty as above to that question.

	 (iii)	 If question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that 
question.

11.	 Challenge the question: If students feel that either the question(s)/answer(s) needs to be modified or require 
clarification, they can email at anubhav@nextias.com with supporting information by 15 April, 2024  
(10:00 AM).

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO

DO Not OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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Directions for the following 3 (three) items:

Read the following three passages and answer
the items that follows the passage. Your
answers to these items should be based on the
passages only.

Passage - 1

Since ancient times in India, mother earth has
been considered a divine entity and her
worship is an integral part of the country’s
civilizational ethos. One can find numerous
reverential references to mother earth in the
Vedas. In tune with this divine knowledge,
Indian farmers since ancient times have
followed sustainable and holistic agricultural
practices. With changing times and a growing
population, agriculturists adopted modern
scientific techniques. Extensive use of
fertilizers and pesticides led to the
deterioration of soil health and contamination
of water bodies and the food chain, which pose
serious health risks to people and livestock.

1. According to the passage, which of the
following are valid inferences with
regards to causes of food chain
contamination?
1. Increasing demand for food by a

growing population
2. Health risks to people and cattle
3.    Soil degradation from chemicals in

fertilizers
4. Leaching of chemicals into water

bodies
Select the correct answer using the code
given below.
(a) 1, 3 and 4 only
(b) 2, 3 and 4 only
(c) 1 and 2 only
(d) 1, 2, 3 and 4

Passage - 2

There are three broad barriers to financial
inclusion. The first barrier is “lack of trust” in
the financial system, particularly in money and
financial institutions. This can be due to a

history of bank failures and the associated loss
of hard-earned cash that people may have
witnessed. Lack of trust may also reflect a lack
of financial literacy. Indeed, people cannot be
expected to trust something they do not
understand. The second barrier is “high costs”.
That is, a financial service may be too
expensive for some users. There are two
possibilities. Either the price is reasonable, but
the user is too poor to afford it. Or the price
really is too high because the service provider
finds it unprofitable to serve some population
segments. Consider a small, low-income
community. Without a critical mass of
potential customers, setting up a fully staffed
branch may be too costly. Even if one ignores
the fixed costs, the marginal profit from serving
low-income clients with narrow financial
needs may be too low. The third barrier is
“lack of documentation”. Bank accounts
cannot be opened without basic documents
such as a birth certificate or identity card.
Meanwhile, a blank credit record can block
access to loans or insurance.
2. Which of the following statements best

reflects the rational, plausible and
practical suggestions that can be derived
from the passage given above?

1. Improving the resilience of financial
institutions can improve public trust
in them.

2. Government should regulate the cost
of financial services to keep it very
low so that even the poorest can
afford them.

3. Financial inclusion is a key enabler
to reducing poverty and boosting
prosperity.

Select the correct answer using the code
given below:
(a) 1 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1, 2 and 3
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(a)

(b)

(c)

(d)

A@B A, B 

A$B A  B 

A#B A  B 

A^B A  B 

A$B A  B 

A+G$I+R@S@T#U$V

(a) I, U

(b) A, T

(c) G, I

(d) R, A
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Passage - 3

Institutionally, cosmopolitan democracy
stops short of a fully-fledged world
government. As David Held notes,
“a cosmopolitan polity does not call for a
diminution per se of state power and
capacity across the globe. Rather it seeks to
entrench and develop political institutions
at the regional and global level as necessary
complements to those at the level of the
state.” This occurs by replicating national
democratic institutions at the transnational
and global levels, such as the creation of a
global parliamentary assembly, international
courts, and a constitutional rule of law.
These institutions provide a framework to
shield human rights and exercise individual
autonomy by voting in global elections.
Moreover, these institutions are charged
with effectively regulating transnational
problems that national institutions cannot
tackle alone: climate change, the diffusion
of nuclear weapons, and financial markets.
This particular model has given rise to a
long- running campaign for the creation
of a United Nations Parliamentary
Assembly.

3. On the basis of the passage given above,
what do you understand by cosmopolitan
democracy?

1. To support and replicate statist
democratic institutions on a global
level.

2. Promoting the adoption of
democracy in every nation.

3. A position of openness and tolerance
towards the ideas and values of
distinct others.

4. An identification with the world or
with humanity in general that
transcends local commitments.

Select the correct answer using the code
given below:

(a) 1 and 2 only

(b) 3 and 4 only

(c) 1 and 4 only

(d) 1, 2, 3 and 4

4. Consider the following statements:
1. In a school, the bell rings once after

each half an hour.
2. The school starts at 09:00am and

closes at 01:30pm.
3. The bell rings 5 times conditionally

at the beginning, lunch and at the
end.

4. Lunch time is at 11 : 30 A.M.
How many times the bell is ringing in the
school in entire day?
(a) 19
(b) 21
(c) 22
(d) 20

5. A@B means ‘A is the sister of B’
A$B means ‘A is the brother of B’

A#B means ‘A is the wife of B’

A^B means ‘A is the mother of B’

A+B means ‘A is the father of B’

If “A+G$I+R@S@T#U$V” is true then,

Which one of the following option is not
correct?

(a) I is the father-in-law of U.

(b) A is the maternal grandfather of T.

(c) G is the brother of I.

(d) R is the paternal granddaughter
of A.

6. Amit, Mohit, Praveen, Ram, and Shyam
have 7, 9, 11, 13 & 14 mango trees
respectively in their respective fields. Last
year each of them found out that every
tree in their own field yields exactly the
same number of mangoes. Further, if
Praveen gives one mango to the Amit and
Shyam gives three mangoes to each of
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M = 1200 – N N

M > 0 M

N

(a) 1165

(b) –1065

(c) 1110

(d) –1045

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(CHD)

NCDs

CHD 

(a)
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Mohit & Ram, they would all exactly
have the same number of mangoes. What
were the yields per tree in the fields of
the Praveen & Ram?

(a) 17 & 9

(b) 9 & 11

(c) 9 & 9

(d) 11 & 9

7. M = 1200 – N, where N is a real number.
M > 0 and M is divisible by 3, 5, 7 and 11.
The sum of the two largest possible values
of N is :

(a) 1165

(b) –1065

(c) 1110

(d) –1045

8. The digits 1 to 9 are arranged in three
rows in such a way that each row
contains three digits, and the number
formed in the second row is twice the
number formed in the first row; and the
number formed in the third row is thrice
the number formed in the first row.
Repetition of digits is not allowed. If only
three of the four digits 2, 3, 7 and 9 are
allowed to use in the first row, how many
such combinations are possible to be
arranged in the three rows?

(a) 4

(b) 3

(c) 2

(d) 1

9. How many trios of distinct single digit
natural numbers are there such that their
sum is 17 and repetition of digits are not
allowed?

(a) 7

(b) 6

(c) 3

(d) 5

10. Ritesh, Satish and Rahul start a
restaurant. They invest at a ratio of
12 : 4 : 3 respectively. If at the end, the
ratio of their profits is 3 : 16 : 9, then what
is the ratio of time period of their
investments?

(a) 9 : 64 : 81

(b) 4 : 36 : 9

(c) 1 : 16 : 12

(d) 3 : 64 : 9

Directions for the following 3 (three) items:

Read the following three passages and answer
the items that follows the passage. Your
answers to these items should be based on the
passages only.

Passage - 1

Especially in the last century, most Western
countries have experienced significant
demographic changes with a continuing
increase in the number of older people who
face medical and functional challenges, as
well as diseases that are age-specific but have
often originated in people’s younger years.
Most of these diseases including obesity,
cardiovascular heart diseases (CHD) or type
2 diabetes mellitus are caused by civilisation.
Most NCDs primarily result from
unhealthy lifestyles including the consumption
of too much or unhealthy food, too much
alcohol and excessive smoking habits,
combined with physical inactivity. More
specifically, inactivity and unhealthy eating
habits are associated with weight gain.
Overweight and obesity are the major
underlying causes of modern diseases such as
CHD or type 2 diabetes mellitus.

11. Which one of the following statements
best reflects the practical implication of
the passage?

(a) Prevention of NCDs can be done
through physical activity and
making healthy food choices.
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(b) Indians should learn from western
countries about the importance of
physical activity for good health.

(c) Due to physical inactivity, any kind
of non- communicable disease can
develop at any age of life.

(d) Unhealthy food, alcohol, and
smoking causes CHD or type
2 diabetes mellitus.

Passage-2

We are now in the middle of a long process of
transition in the nature of the image which
man has of himself and his environment.
Primitive men, and to a large extent also men
of the early civilizations, imagined themselves
to be living on a virtually illimitable plane.
That is, there was always someplace else to
go when things got too difficult, either by
reason of the deterioration of the natural
environment or a deterioration of the social
structure in places where people happened to
live. Gradually, however, man has been
accustoming himself to the notion of the
spherical earth and a closed sphere of human
activity where there is nowhere to go if things
get difficult.

12. With reference to the above passage,
following assumptions have been made:

1. Rise in population alters man’s image
of himself and his environment.

2. Primitive men lacked the capability
to accustom themselves to changed
external situations - material or non-
material.

3. Primitive humans and early
civilizations perceived their
surroundings as vast and unlimited

4. Increasing recognition of
environmental and social constraints
can prompt man to alter the way he
sees himself.

5. Today, if things get difficult, we have
no land to go to.

Which of the above assumptions is/are
valid?

(a) 1, 2, 3 and 4 only

(b) 1, 2 and 5 only

(c) 3 and 4 only

(d) 2, 3, 4 and 5 only

Passage-3

The root of sufferings is neither the feeling of
pain nor of sadness nor even of
meaninglessness. Rather, the real root of
suffering is this never-ending and pointless
pursuit of ephemeral feelings, which causes
us to be in a constant state of tension,
restlessness and dissatisfaction. Due to this
pursuit, the mind is never satisfied. Even
when experiencing pleasure, it is not content,
because it fears this feeling might soon
disappear, and craves that this feeling should
stay and intensify. People are liberated from
sufferings not when they experience this or
that fleeting pleasure, but rather when they
understand the impermanent nature of all
their feelings, and stop craving for them.

13. With reference to the above passage,
following assumption have been made:
1. Pain is not associated with suffering.

2. Ceaseless pursuit of fleeting emotions
causes unhappiness.

3. Cessation of suffering can arise from
a person’s ability to stop craving
feelings.

4. People can achieve liberation from
suffering by avoiding all feelings.

5. The pursuit of ephemeral feelings
mostly leads to pleasure.

Which of the above assumptions is/are
valid?

(a) 1, 2 and 3 only

(b) 2 and 3 only

(c) 3, 4 and 5 only

(d) 1, 2, 3 and 5 only
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Directions (Q.Nos. 14-15): Examine the
information carefully and answer the
questions that follow.

A political party ‘BP’ has set the target
of winning 400 seats out of 543 seats in the
upcoming Lok Sabha Elections 2024.

The number of Lok Sabha seats in the 7 states
are given below:

UP 80
WB 42
TN 39
MH 48
AP 42

Bihar 40
MP 29

States Seats

Out of remaining Lok Sabha seats in all other
states, the party is assured of winning 150
seats.

14. Examine the following statements:

I. If the political party wins all the 80
seats in UP, then the probability of

achieving it’s target is 
17
24

.

II. If the political party wins total 150
seats in UP, MH, and AP, then it
needs minimum 2/3 of the seats in
remaining 5 states in order to achieve
it’s target.

Which of the given above statements
is/are correct?

(a) I Only

(b) II Only

(c) Both I and II

(d) Neither I nor II

15. Examine the following statements:

I. If the party win 75% seats in the
7 states, then the party will definitely
achieve it’s target.

II. If the party win 70% of seats in WB,
TN & MP and 80% of seats in the
remaining 5 states, it will achieve its
target.

Which of the given above statements
is/are correct?

(a) I Only

(b) II Only

(c) Both I and II

(d) Neither I nor II

16. What is the value of 
n n

n n

/5 2 1

1
32 2

4 2







?

(a) 1
(b) 4
(c) 8
(d) None

17. Water is contained in two full buckets, one
formed like a cylinder and the other like
a cone. Compared to the conical bucket,
the cylindrical bucket holds 500 litres (l)
more water than the conical bucket. The
cylindrical bucket holds twice as much
water as the conical bucket after 200 litres
of water have been pumped out of each
bucket. When filled, how many litres of
water did the cylindrical bucket hold?

(a) 700 l

(b) 1000 l

(c) 1100 l

(d) 1200 l

18. Piyush gets an aggregate of 60% marks
in five subjects in the ratio 10 : 9 : 8 : 7 : 6.
How many subjects did he pass in the
exam if the passing marks are equal to
50% of the maximum marks and the
maximum marks are the same for all
subjects?

(a) 2

(b) 3

(c) 4

(d) 5
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19. 25 farmers can plough a field in 20 days.
When should 15 farmers leave the work,
If the whole field is to be ploughed in
37.5 days after they leave the work?

(a) After 4 days

(b) After 6 days

(c) After 5 days

(d) After 3 days

20. There are 50% more students in class B
than in class A. There are the same
number of girls in class A as there are boys
in class B. In both groups, the percentage
of girls is the same. What percentage of
the student group are boys?

(a) 33.33%

(b) 40%

(c) 25%

(d) 60%

Directions for the following 3 (three) items:

Read the following two passages and answer
the items that follows the passage. Your
answers to these items should be based on the
passages only.

Passage - 1

The food system and agriculture are deeply
interrelated with land, water, and energy.
Agriculture in the India now is an energy-
intensive sector and a major user of ground
and surface water. Direct energy use in
agriculture is primarily from fossil fuels used
to operate automobiles and machinery for
preparing fields, planting, and harvesting
crops, applying chemicals, and transporting
inputs and outputs to and from the market.
Electricity is used largely for lighting, heating,
cooling, and operation of in-farm equipment.
Indirect energy is consumed off the farm for
manufacturing fertilizers and pesticides, with
the production of fertilizer being “extremely
energy-intensive, requiring large amounts of

natural gas”. Currently, there are public
programs that promote renewable energy
options and recommendations in conserving
fuel and energy for farms, efficient use of
fertilizers and pesticides, soil conservation
measures, and energy-efficient methods of
growing and transporting foods, but those
programs will need high levels of participation
to curb both climate impacts as well as address
air and water quality issues associated with
traditional agricultural practices.

21. Based on  the  above  passage,  the
following assumptions have been made:

1. Future of agriculture in India is bleak
due to dependence on fossil fuels.

2. Programs for replacement of fossil
fuels with renewable energy alone
may not solve the problems of
pollution caused by agriculture.

Which of the above assumptions is/are
valid?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

22. Which among the following are the
possible uses of energy in agriculture?

1. Preparation of fields for growing
crops.

2. Transportation of inputs to and
outputs from the field.

3. Application of fertilizers.

Select the correct answer from the code
given below:

(a) 1 and 3 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1, 2 and 3
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Passage - 2
In just the last three centuries, global forest
areas have shrunk by 40 per cent. Every year,
to meet the timber needs from natural sources,
the Earth is stripped of 100 million trees. They
store 50 per cent of the world’s terrestrial
carbon and provide a buffer from extreme
weather, such as hurricanes and tsunamis. The
“State of the World’s Trees” assessment
evaluated 60,000 tree species and found that
30 per cent are at the risk of extinction.
Extinction in the plant kingdom is “twice the
number of threatened tree species globally
than threatened mammals, birds, amphibians
and reptiles combined”. Over 440 tree species
are on the brink of extinction, meaning they
have fewer than 50 individuals remaining in
the wild, the report reveals. The rapidly
snowballing loss in diversity is largely
triggered and fueled by new age emergencies
and interventions, like climate change, change
in atmospheric composition and the spread of
invasive alien species. The current warming
is 1.2°C above the pre-industrial levels. This
means, from the evolutionary perspective,
humans are already moving out of the
Holocene environment that ensured the right
temperature for us to evolve and take up
farming. An IPCC report cites that half of all
species are moving towards the poles or to a
higher elevation to adapt to the new planetary
climate. At sea, due to the warming, species
have travelled poleward at the rate of 59 km
per decade on average.

23. Biodiversity loss is due to which of the
following factors?
1. Spread of alien invasive species
2. Global warming and climate change
3. Deforestation
Select the correct answer using the code
given below:
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1, 2 and 3

24. A, B, C and D share a loot. A gets a% of
the total loot. B gets b% of the remaining
(after A has taken his share). C gets c%
of the remaining and D gets the rest.
D gets a% less than what A gets, and
B and C get equal amounts.  (b = 2a)

1. What percentage of what A got, did
C get?

2. If the total amount is equal to
Rs.1000, what is the difference
between what A got and what
D got?

Which one of the following option is
correct?

(a) 160%, A got Rs.40 more than D

(b) 80%, A got Rs.20 more than D

(c) 175%, A got Rs.50 more than D

(d) 150%, A got Rs.35 more than D

25. 91 is the result of adding the sum of two
non-prime numbers to their HCF. How
many such pairs are possible?

(a) 2

(b) 4

(c) 3

(d) 6

26. Students in a class are given roll numbers
ranging from 1 to 140. Every student
whose roll number is divisible by five
chose football, every student whose roll
number is divisible by three chose
basketball, and every student whose roll
number is even chose cricket. The number
of students that choose not to participate
in any of the three sports are :

(a) 52

(b) 38

(c) 28

(d) 42
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27. Rakshit’s score in an examination was
one-twelfth of the sum of the scores of
Monika and Anjana. After a review, the
score of each of them increased by 6. The
revised scores of Anjana, Monika, and
Rakshit were in the ratio 11 : 10 : 3. Then
Anjana’s score exceeded Rakshit’s score
after review by :
(a) 26
(b) 32
(c) 24
(d) 35

28. Trains P and Q both depart
simultaneously. Trains P and Q departs
from station X to station Y and Y to
station X, respectively. The ratio of their
speed is 11 : 16 respectively and difference
in their speed is 25 km/hr. They meet
after 1 hour and 36 minutes. Find the total
time taken by train P to travel from station
X to station Y.

(a) 25/9 hours

(b) 216/55 hours

(c) 263/55 hours

(d) 273/55 hours

29. A shopkeeper marks up his goods 50%
above the CP and gives 23% discount to
the customer. At the time of purchasing
from wholesaler, he uses 1080 gm weight
instead of 1kg and at the time of selling
the goods he uses 770gm weight instead
of 1kg. Find his profit percentage.

(a) 42 %

(b) 35%

(c) 62%

(d) 27%

30. What is the unit digit of 1! + 2! + 3! + 4! +
………………….. + 76! + 77! + 78! ?

(a) 1

(b) 5

(c) 3

(d) 8

Directions for the following 5 (five) items:

Read the following three passages and answer
the items that follows the passage. Your
answers to these items should be based on the
passages only.

Passage - 1

For most people, the climate crisis is no longer
a future scenario. Floods, heat waves and
wildfires have gripped our entire planet and
will become stronger in years to come.
Countries in the Global South are particularly
hard hit, even though their citizens have been
emitting the least CO2. Drastic reduction of
carbon emissions is only one pillar in the fight
against climate change. Many of its
consequences can no longer be stopped. There
is an urgent need for adaptation measures so
people both in cities and in rural areas have
the chance to cope with the effects of climate
change. That’s why several years ago rich
nations committed to supporting low-income
countries with $100 billion (€95 billion)
annually from 2020 to help them cut emissions
and adapt to climate change. It was a central
promise for more climate justice that has not
been kept so far.

31. Based on the above passage, the
following assumptions have been made:

1. Through proper adaptation
mechanisms and funding climate
change can be arrested.

2. Low-income countries are
disproportionately affected by the
climate crisis despite contributing less
to carbon emissions, suggesting an
inequity in climate change impacts.

3. Climate change or its consequences
cannot be mitigated or reversed.

Which of the above assumptions is/are
valid?
(a) 1 and 2 only
(b) 2 and 3 only
(c) 2 only
(d) 1, 2 and 3
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32. What is the crucial message conveyed by
the above passage?

(a) Controlling carbon emissions should
be the prime focus in the fight against
climate change.

(b) Climate change impacts are largely
the responsibility of high-income
countries due to not meeting the
promise of provision of funding to
low income countries.

(c) The $100 billion commitment from
rich nations to support low-income
countries must be fully honored
without any discrepancies or delays.

(d) Since consequences of climate change
are already underway, there is an
urgent need for adaptation measures
so people can have the chance to
cope with them.

Passage - 2

India which will soon have twice the number
of Internet users as the U.S. is a large market
for all kinds of new technologies. While this
presents a huge opportunity, the domestic
industry has not yet managed to derive the
benefits. For instance, the country is operating
far below its potential in electronic
manufacturing. Electronic goods and
components are the second largest item, after
oil, in India’s import bill. Also, the country’s
imports are almost five times its exports in this
industry (based on 2020-21 data). High-value
electronic components needed in the
manufacture of, say, mobile phones are
technology and design-intensive. Big
multinational companies control these
technologies and corner the bulk of the
revenues. China has used its large market size
as a bargaining chip in negotiations with
foreign firms: stay in our markets only if you
localize production and share technologies
with the local firms.

33. Based on the above passage, the
following assumptions have been made:

1. Indians have a high rate of
consumption of electronics.

2. India will try to use its market size as
a bargaining chip for the promotion
of its electronics industry.

3. India’s large market for new
technologies is primarily due to its
population size.

4. Access to a large market can affect a
foreign firms’ decision regarding
localization of production and
technology sharing.

Which of the above Assumptions and
suggestions is/are valid?

(a) 2, 3 and 4 only

(b) 1, 2 and 3 only

(c) 1 and 4 only

(d) 1, 2, 3 and 4

34. Which one of the following statements
best reflects the crux of the passage?

(a) Union government should trade with
the USA not only in products but also
in services like technology.

(b) Domestic companies should invest in
human resources to excel in the
technologies of the electronic
industry.

(c) Despite a large user base, India is not
able to scale electronics production
due to technological limitations.

(d) Big multinational companies should
shift their manufacturing base from
China to India.

Passage - 3

Hyperconsumption is a curse of our modern
times. Humans generate monumental
amounts of waste, a sizeable portion of which
is disposed of in landfills and through waste-
to-energy incinerators. However, billions of
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tonnes of garbage, including microplastics,
never make it to landfills or incinerators and
end up in the oceans. This garbage chokes
marine life and disturbs zooplankton, which
is vital to the elimination of carbon dioxide
from the atmosphere. In India, nearly 60% of
the household waste is wet organic waste,
with low calorific value. This makes options
such as waste-to- energy incinerators
inefficient.

35. Which one of the following statement
best reflects the crux of the passage?
(a) Hyperconsumption, particularly the

generation of waste, including
microplastics, has detrimental effects
on marine ecosystems.

(b) Waste-to-energy incinerators are the
most efficient solution for managing
household waste in India.

(c) Incineration is the second-best
technological solution for waste
processing in India.

(d) To promote increased consumption of
organic and recycled goods as a
solution to environmental issues.

36. A box contains 21 red balls, 36 green balls,
29 yellow balls, 39 white balls, 18 black
balls, and 27 pink balls. Consider the
following statements:
1. The smallest number n such that any

n balls drawn from the box randomly
must contain full group of at least two
colours is 162.

2. The smallest number m such that any
m balls drawn from the box randomly
must contain at least two balls of each
colour is 154.

Which of the above statements is/are
correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

37. Consider the following statements:

I. 350 + 750 is divisible by 10.

II. 350 + 750 is divisible by 58.

III. (2929 + 2829) is divided by 19 leaves
remainder 0.

How many of the above statements
is/are correct?

(a) Only one

(b) Only two

(c) Only three

(d) None

38. A can finish a work in 20 days, B in 25
days and C in 15 days. If all of them
work together and earn Rs. 9400.

Consider the following statements:

Statement I : The share of C is Rs. 4500.

Statement II : A and C can complete the
whole work in 150/63 days less than A
and B can together complete the same
work.

Which of the statements given above
is/are correct?

(a) Only statement I

(b) Only statement II

(c) Both statement I and II

(d) Neither statement I nor II

39. A certain sum of amount is lent out at
10% per annum compounded half yearly
for one year. What is the amount earned
at the end of 1 year?

Consider the following statements :

Statement 1 : The difference between the
amount earned at simple interest for 7
years at 12% per annum and for 8 years
at 15% per annum is rupees 432.

Statement 2 : The total amount earned
on the certain sum of money at 12% per
annum at simple interest for 5 years and
on same sum of money at 10% per annum
compounded annually for 2 years is
rupees 5620.
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Which of the statements given above
is/are sufficient to answer the question?

(a) Statement 1 alone is sufficient

(b) Statement 2 alone is sufficient

(c) Both statement 1 and 2 together are
sufficient

(d) Either 1 or 2 alone is sufficient

40. The record of a weather forecast station
shows that out of the past one year,
its weather forecasts were correct for
225 days.

Consider the following statements :
Statement I : the probability that on a
given day, the weather forecast was
correct is 0.62.
Statement II : the probability that on a
given day the weather forecast was not
correct is 0.41.
Select the correct answer using the code
given below:
(a) Only statement I.
(b) Only statement II.
(c) Both statement I and II.
(d) Neither statement I nor II.

Directions for the following 3 (three) items:

Read the following two passages and answer
the items that follows the passage. Your
answers to these items should be based on the
passages only.

Passage – 1

Climate change and its impacts across the
globe will threaten the bottom line of businesses
in a variety of ways. The frequency and
intensity of extreme weather in countries, can
damage factories, supply chain operations and
other infrastructure, and disrupt transport.
Drought will make water more expensive,
which will likely affect the cost of raw
materials and production. Climate volatility
may force companies to deal with uncertainty
in the price of resources for production, energy
transport and insurance. And some products

could become obsolete or lose their markets,
such as equipment related to coal mining or
skiing in an area that no longer has snow.
Whether in the U.S. or abroad, new
regulations such as carbon pricing and
subsidies that favour a competitor may affect
a business’s bottom line. A company’s
reputation could also suffer if it’s seen as doing
something that hurts the environment. And
investors and stakeholders are increasingly
worried about the potential for “stranded
assets”-those that become prematurely
obsolete or fall out of favour and must be
recorded as a loss, such as fossil fuels that
many believe should stay in the ground or real
estate in a newly designated flood plain.

41. Which among the following are the
possible disadvantages of climate change?
1. Increased prices of goods.
2. Forcing companies to think about the

environment.
3. Redundancy of products.
4. Introduction of carbon pricing.
Select the correct answer from the code
given below:
(a) 1 and 3 only
(b) 3 and 4 only
(c) 2 and 4 only
(d) 1 and 2 only

42. Which one of the following statements
best reflects the crux of the passage?

(a) Climate change will be a driver for
change in the patterns of future
production.

(b) Companies which no longer focus on
climate governance will face a boycott
of their goods.

(c) Nations across the globe need to
tackle climate change by making it
their number one priority.

(d) Only focusing on sustainable
development can help us cope with
the menace of climate change.
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Passage – 2

The impact of high exposure to air pollution
in the long- and short-term has been well
documented, with air pollution contributing
to over 1.6 million deaths in India in 2019,
according to sub-national burden of disease
estimates by the Indian Council of Medical
Research. Several other studies have also
linked exposure with mortality, heightened
risk of hypertension, premature birth, low
birth-weight and a range of other adverse
health outcomes. The catastrophic health and
economic losses, estimated to be 1.36% of GDP
in 2019, present a very real and growing
challenge, one that can only be confronted
through systematic, science-driven and
sustained action.

43. On the basis of the above passage, the
following implications have been made:

1. Levels of pollution in Indian cities can
affect the productivity of the country.

2. Exposure to high levels of pollution
negatively impacts the quality of life
and health of future generations.

3. Unless science based actions are taken
to reduce exposure high levels of
pollution, the problem will continue
to persist.

Which of the following is/are valid
implications?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

44. In following question, read all the
statements carefully and find which of the
following statements are sufficient to
answer the question.

Question: x, y and z are digits and y is
greater than 3. Which of the following is
greatest among x, y and z?

Statement  1 : The 6 digit number 784xy6
is divisible by 36.

Statement 2 : 3 < (x, y, z) < 7

Statement 3 : 2x + 3z = 30

Statement 4 : The 7 digit number 437zy20
is divisible by 72.

Which of the statements are sufficient to
find answer to the given above question?

(a) Statement 1 and 3 together are
sufficient.

(b) Statement 1 and 2 together are
sufficient.

(c) Statement 1 and 4 together are
sufficient.

(d) None of the above

45. Jason has eight students and each of his
student has seven students. Jason asks his
students to make an assignment in the
group of two so that each of his students
make an assignment with each other and
then submit to him. He asks students of
his students to make an assignment
individually and then submit to him. Find
out the total number of assignments.

(a) 28

(b) 56

(c) 84

(d) None

46. Consider the following question:

Question: Is W the aunty of P in family
of eight members ?

Statement I: R is the father of D‘s father-
in-law and G is sister-in-law of W‘s father.
H is married to K and mother of P. F is
mother of W and is married to R. There
are only three married couples in the
family and W is not a married member.

Statement II: G is sister of K’s mother and
D is married to P, who is son of R’s
daughter-in-law. H is sister-in-law of W
and is married to K, who is the only son
of F. R is the father of W, who is
unmarried member of the family.
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Which of the following is correct in
respect of above question and statements?
(a) The data in statement I alone is

sufficient to answer the Question and
the data in statement II alone is not
sufficient to answer the question.

(b) The data in statement II alone is
sufficient to answer the question,
while data in statement I alone is not
sufficient to answer the question

(c) The data either in statement I alone
or in statement II alone is sufficient
to answer the question

(d) The data in both the statements I and
II together is necessary to answer the
question.

47. A set of statements marked as P and Q is
given below followed by some codes
which denote the relationship between
any two statements. They are followed by
another set of statements which may or
may not be related to P and Q. Read the
statements and mark the correct option
that depicts the correct relationship
between the statements.

Codes:

J+K means statement K the cause and
statement J is the effect.
J&K means statement J is the conclusion
drawn from statement K
J!K means J is the cause and K is the effect.
Statement P: The forest fires often reach
the proportions of a major conflagration
and are sometimes begun by combustion
and heat from surface and ground fires.
Statement Q: Climate change encompasses
not only rising average temperatures, but
also extreme weather events shifting
wildlife populations and habitats, rising
sea levels and a range of other impacts.
Statement R: The most common causes
of deforestation and severe forest
degradation are  agriculture,
unsustainable forest management,

mining, infrastructure projects, and
increased fire  incidences and intensity.

Statement S: The leading causes of death
in the third world include respiratory
diseases, diseases of the circulatory
system, low-birth-weight, diarrhoea,
measles, injuries, malnutrition, and
neoplasms, thereby reducing think this is
of poverty and affluence.

Conclusions :

I. R+Q

II. R ! P

III. Q & R

Which of the following is correct?

(a) Only I and II

(b) Only II

(c) Only III

(d) None of the above

48. A barrel contains a mixture of milk and
water in the ratio 4 : 1. How much
percentage of the mixture must be drawn
off and substituted by water so that the
ratio of milk and water in the resultant
mixture in the barrel becomes 2 : 5?

(a) 68.3 %

(b) 69.8 %

(c) 64.29 %

(d) 59.68 %

49. Shubham bought ‘n’ numbers of
smartwatches for Rs. 80640 and sells it at
Rs. 588n per smartwatch after offering a
discount of (n + 4)% on each smartwatch
on marked price, where the marked price
is 25% above the cost price.

The value of ‘n’ will satisfy which of the
following equation:–

1. n n n4 15( 4) 2  

2. 2n2 – 21(n + 1) = 15

3. n(n – 10) – 36 = –12
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Select the correct answer using the code
given below:

(a) 1 and 2 Only

(b) 1 and 3 Only

(c) 2 and 3 Only

(d) 1, 2 and 3

50. Consider the following sequence:

J Y 2 = S £ á E G M Ä 7 $ H P 9 K L â @ W
Q 1 3 # C D ©

Find the odd one out from the given
options based on the above given
arrangement:

(a) 2 Y C D

(b) £ S 1 3

(c) 2 = # C

(d) G M Q W

Directions for the following 3 (three) items:

Read the following two passages and answer
the items that follows the passage. Your
answers to these items should be based on the
passages only.

Passage – 1

Variant creation is driven by the amount of
replicating virus in existence. Whether an
evolutionary offshoot ultimately takes hold is
a product of viral fitness, selection pressures
and host susceptibility. This equation explains
why the most immunocompromised amongst
us are so pivotal for preventing the rise of new
mutations. When someone who is severely
immunosuppressed is infected with the novel
coronavirus, large loads of the virus can
replicate for weeks or even months. And if
natural immune responses and therapeutic
treatments are unsuccessful, this uncontrolled
viral replication can lead to the creation of
mutant strains. Due to the high viral loads,
the variants can easily spread to other
susceptible individuals if enhanced isolation
precautions are not strictly followed.

51. On the basis of the above passage, the
following assumptions have been made:

1. The more the amount of replicating
virus in existence, the more the
chances of creation of mutant strains.

2. Mutant strains become more resilient
due to selection pressures and viral
fitness alone.

Which of the following is/are valid
assumptions?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

52. Which one of the following statements
best reflects the critical message of the
passage?

(a) Those who are severely immun-
osuppressed and are not treated
effectively leads to the virus
replicating for weeks or even months.

(b) Protecting the most immuno-
compromised through enhanced
isolation precautions is crucial for
preventing the rise of new mutations.

(c) Reduction in the spread of diseases
is dependent on focusing on viral
fitness, selection pressures and host
susceptibility.

(d) Patients who stop their treatments
before the infection is cleared are at
higher risk of developing drug-
resistant strains.

Passage – 2
India faces a challenging immediate future in
energy and climate policy-making. The
problems are multiple : sputtering fossil fuel
production capability; limited access to
electricity and modern cooking fuel for the
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(a)
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A$B – B, A

A%B – B, A

A&B – B, A

A*B – B, A

A$*B – B, A

A%&B – B, A
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(c) 55 
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R

(a)

(b)

(c)

(d)

A  Z 

MANGO

(a)

(b)

(c)

(d)

I A K

Q

R K R



(33 – A)© Copyright: www.nextias.com

   

   

Anubhav-2024  |  All India Open Mock Test-4

poorest; rising fuel imports in an unstable
global energy context; continued electricity
pricing and governance challenges leading to
its costly deficits or surplus supply; and not
least, growing environmental contestation
around land, water and air. But all is not bleak:
growing energy efficiency programmes;
integrated urbanisation and transport policy
discussions; inroads to enhancing energy
access and security; and bold renewable
energy initiatives, even if not fully
conceptualized, suggest the promise of
transformation.

53. Which one of the following statements
best reflects the critical message
conveyed by the passage given above?

(a) India’s energy decision-making
process is ever more complex and
interconnected.

(b) India’s energy and climate policy
is heavily tuned to sustainable
development goals.

(c) India’s energy and climate actions
are not compatible with its broader
social, economic and environmental
goals.

(d) India’s energy decision-making
process is straightforward supply-
oriented and ignores the demand
side.

Directions (Q.Nos. 54-55): Study the given
information and answer the following
questions:

A$B – B to the south of A at 5m.

A%B – B to the north of A at  4m.

A&B – B to the east of A at 3m.

A*B – B to west of A at 6m.

A$*B – B to southwest of A.

A%&B – B to northeast of A.

54. If “F & C $ B * D $ E” is true, then find
the shortest distance between E and F?

(a) m2 10 5

(b) m103

(c) m5 5

(d) m109

55. If “C % & H % I & R” is true, then R is in
which direction with respect to C?

(a) Northeast

(b) North

(c) Southwest

(d) Southeast

Direction (Q.No. 56): If English alphabets
from A to Z are coded to numbers in such a
way that the value of each consonant is a
prime number in increasing order starting
from 2 and the value of each vowel is double
to its next consonant value.

56. MANGO will be written as:

(a) 314371174

(b) 292375371

(c) 294311274

(d) 294311174

57. In a singing competition, all the
participants are made to stand in a queue
according to their ranks. More
than 10 persons participated in the
competition.

Question: How many participants were
there?

Statements:

I. A was ninth in the competition. K is
standing at one of the corner of the
queue. Q is the third and R is fifth in
the competition and there are seven
persons standing between K and R.
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II. R was fifth in the competition. There
are two person standing in between
R and D. K is standing seventh the
queue. There are four persons in
between D and K. D was not the
second in the competition or in
the queue.

Which of following is correct in respect
of above question and statements?

(a) The data in both the statements I and
II together is not sufficient to answer
the question.

(b) The data in statement II alone is
sufficient to answer the question,
while data in statement I alone is not
sufficient to answer the question.

(c) The data in statement I alone is
sufficient to answer the question,
while data in statement II alone is not
sufficient to answer the question.

(d) The data in both the statements I and
II together is necessary to answer the
question.

58. There are 6 people living in a six floor
building. Each occupying a different
floor.

Consider the following statements:
1. Only two people live between

T and W.
2. T doesn’t live on the topmost floor

and lives on an even number of floor.
3. Neither U and V lives on the

lowermost floor.
4. Only one person lives above S.
5. U lives immediately below T and

immediately above V.
How many statements given above are
required to determine the person lives on
lowermost floor?

(a) Only two

(b) Only three

(c) Only four

(d) All five

Directions (Q.Nos. 59-60): Six persons
will go to three different cities Paris, Delhi
and Sydney from Monday to Saturday of
the same week. Two of these six persons
each will go to the same city. Different
number of family members will go along
with each person such that they are in
consecutive numbers. Three families will
travel after the person who will travel
alone. Two more persons will travel with
S than with E. E will travel before S and to
the same city. H and the one travelling
immediately after him will visit the same
city. Two families will travel in between
C and the one who will go to Paris. Four
persons will travel with J. The one who
will travel immediately before W will
travel to Delhi along with one family
member only. Neither C nor the person
traveling immediately before C will travel
alone. Neither C nor the persons traveling
to Paris will travel on Tuesday. One more
person will  travel on Thursday than
on Friday. W and C will not go to the
same city.

59. What is the total number of persons who
will travel to Paris (including both the
families)?

(a) 7

(b) 5

(c) 6

(d) 4

60. Which of the following pair is not correct?

(a) Monday – J – Paris

(b) Thursday – S – Delhi

(c) Friday – H – Sydney

(d) Wednesday – C – Paris
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Directions for the following 4 (four) items:
Read the following three passages and answer
the items that follows the passage. Your
answers to these items should be based on the
passages only.

Passage – 1

The rapid growth of technology often outpaces
the ability of governments to understand the
implications of new technologies that are
emerging and take countermeasures to ensure
that these are regulated in the public interest.
Developments in diverse areas of technology
like biotechnology, advances in
communication technology, fracking etc.
require governments to develop appropriate
regulatory responses. These policy responses
often have to be coordinated not just at a
national level, but even globally. However,
regulation, if it is to be effective, has to keep
pace with technology development and it is
here that administrative systems need to
develop better capabilities. Also, an adequate
understanding of technology developments
and their implications is critical for those in
government who participate in international
negotiations where global regulations are
framed. 

61. With reference to the above passage,
which of the following are true?

1. Regulatory infrastructure always
lags behind technological
development.

2. Knowledge of new technologies is
essential for effective global policy
coordination.

3. Framers of global regulations in
technology require expertise to
develop them.

Select the correct answer using the
code given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 2 only

(d) 1, 2 and 3

Passage - 2

Our urban bodies cannot possibly ensure
sustainable delivery of water in our cities unless
financing mechanisms are put in place. Water
delivery requires heavy investment in
collecting it from a natural source, treating it
to make it potable, and laying a distribution
network of pipes for delivery to the users. It
also requires investments in sewerage
infrastructure and sewage treatment plants so
that the sewers can carry the wastewater to
these plants to ensure that no untreated
sewage is discharged back into natural water
bodies. If our cities were rich enough to meet
the entire cost, water could be delivered free.
They are not.
62. What is the most logical and crucial

message conveyed by the passage?
(a) Urban local bodies must recover costs

through user charges.
(b) Urban local bodies are not efficient

enough to meet the water
requirements of our cities.

(c) Water shortage in our cities is a
perennial problem that cannot be
solved.

(d) In view of the water crisis in our
cities, there is an urgent need to limit
the population of cities by adopting
an upper limit of population size.

63. With reference to the above passage, the
following assumptions have been made:

1. Rich cities only can ensure
sustainable delivery of water.

2. Sustainable delivery of water in cities
means much more than supplying
water to households.

Which of the above assumptions is/are
valid?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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Passage – 3
In rural India there is more need for women
empowerment. The factors which determine
women’s empowerment are education, health
and safety. Education here just does not mean
merely teaching the three R’s – reading,
writing & arithmetic, but to make them aware
of their rights and also realize the
discriminatory treatment given to them.
Economically, Self Help Group (SHG)
Movement with Micro-credit facility will help
reduce poverty and make them more self-
reliant.

64. Which among the following is the
most logical corollary to the above
passage?
(a) Lack of awareness of rights among

women, especially in rural India,
is a major cause behind
empowerment of women being
slowed.

(b) Along with education, health and
safety, economic independence is
a vital aspect of women
empowerment.

(c) The impact of micro credit as tool
for women empowerment in rural
areas is limited due to the
beneficiaries’ preference for
seasonal employment.

(d) In urban areas, empowerment of
women has shown some progress
due to better education, health,
safety and rights awareness
among women.

65. There are 7 people T, U, V, W, X, Y, and
Z in a family, out of which 4 are adults
and 3 are children.
Consider the following statements:
1. Out of 3 children, Y and Z are girls.
2. T and W are brothers and T is a

Professor and W has only one child.
3. X is a lawyer and married to one of

the brothers and has two children
including a son.

4. U is married to W and Z is their only
child.

How many statements given above are
required to determine the person
X marries to?

(a) Only two

(b) Only three

(c) Only four

(d) None of the above

66. There are 6 violet , some green, some
yellow and some pink balls in a box.

Question: What is the probability of
drawing a green ball and a pink ball
together ?

Consider the following statements:

Statement I : The probability of drawing
one violet ball from the bag is 1/8.

Statement II : The probability of drawing
one yellow ball is 1/4.

Statement III : The number of Pink balls
is equal to sum of green and yellow balls.

Which of the statements given above
is/are sufficient to answer the question?

(a) Only I and III together are sufficient

(b) Any two of the three statements are
sufficient

(c) I, II and III together are sufficient

(d) I, II and III together are not sufficient

67. Series 1 : 253, 222, 193, 170, 151, ?

Series 2 : 284, 59, 255, 80, 230, 109

Statement I: The sum of missing term of
series 1 and correct term of series 2 is
divisible by 20.

Statement II: Difference between wrong
and correct term of series 2 is a multiple
of 3.

Statement III: Wrong number is 13 more
than half of missing number
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Which of the statements given above
are correct regarding the relationship
among the missing term in series 1 and
wrong term in series 2 ?

(a) Only I and II are correct

(b) Only II and III are correct

(c) I , II and III are correct

(d) None of the above

68. Study the information given below:
P2Q means ‘Only a few P is Q’
P4Q means ‘A little P are Q’

P6Q means No Q is P
P-Q8R means ‘Neither P nor Q is R’
P0Q means ‘All P are Q’
Assuming the following given statement
to be true, decide which of the following
given conclusions logically follows from
the given statements disregarding the
commonly known facts.
Statement :
Horse 6 Rat 4 Tigers 0 Bear-Fish 8 Cheetah

Conclusions:

I. No Horse is fish

II. Some rats are cheetah

III. All fishes are Tigers

Which of the following is correct in
respect of above statements and
conclusions?

(a) Both conclusions I and II follow

(b) Both conclusions II and III follow

(c) Only conclusions II follows

(d) None

69. The letters of the word
“QWATPUSVMBK” are arranged
alphabetically in same order as in
alphabets. How many position of the
letter/letters’ will remain unchanged?
(a) One

(b) Two
(c) Three
(d) None

70. Choose the group which is different from
the others:

(a) (12, 42, 7)

(b) (9, 18, 4)

(c) (7, 12, 6)

(d) (13, 52, 8)

Directions for the following 3 (three) items:

Read the following two passages and answer
the items that follows the passage. Your
answers to these items should be based on the
passages only.

Passage – 1

Ethnic conflict illustrates the difficulties that
cultural pluralism poses for orderly,
democratic government. Ethnic diversity and
political instability are not, however, limited
to developing countries. If they were, we
might expect that economic development and
urbanization would eliminate ethnic tensions
and facilitate stable government. However, a
growing expression of ethnic sentiments in the
political processes of several industrialized
nations during the 1960s and early 1970s belies
this expectation; ethnic politics is indeed not
a unique product of the so-called
underdeveloped world.

71. What does the above passage imply?

(a) Cultural homogeneity alone helps
establish a more stable democracy
and achieve development and
urbanization.

(b) Pluralism can cause ethnic conflicts
and political instability irrespective of
economic development.

(c) Growing frustration in biased
political processes leads citizens to
lose faith in a democracy.

(d) Development and urbanization can
wipe out the problems that are
caused due to cultural pluralism.
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Passage – 2

By some estimates, possibly more than a
quarter of the world’s elephant population
has been lost in a decade. However,
environmental crimes are no longer restricted
to iconic wildlife and rare wood species alone
– they have become part and parcel of the
larger global network of transnational
organized environmental crimes.
Environmental crimes also include corporate
crime in the forestry sector, illegal exploitation
and sale of gold and minerals, illegal fisheries,
trafficking in hazardous waste and chemicals
and threat finance using wealth generated
illegally from natural resources to support
non-state armed groups and terrorism.
Although the definition of “environmental
crime” is not universally agreed, it is
understood as a collective term to describe
illegal activities harming the environment and
aimed at benefitting individuals or groups or
companies from the exploitation of,
damage to, trade or theft of natural resources,
including serious crimes and transnational
organized crime.

72. Which one of the following statements
best reflects the critical message of the
passage?

(a) ‘Environmental crimes’ are not
restricted to iconic wildlife and so a
better working definition of the term
is needed.

(b) The root causes of increasing
environmental crimes vary, and
appropriate responses need
collaboration and funding.

(c) Environmental crime is increasing
and endangering not only wildlife
populations but also national
security.

(d) Efforts to curb the wider
environmental crimes have become
particularly important in response to
threats against peace and security.

73. On the basis of the above passage, the
following assumptions have been made:

1. Impact of environmental crimes is
aggravated through their threats
against peace and security.

2. To fully address environmental
crimes, coordinated responses and
international collaboration are
required.

Which of the following is/are valid
assumptions?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Directions (Q.Nos. 74-76): Eight members of

a family A, B, C, D, E, F, G, & H are talking

about their professions in different time slots.

Their professions are either artist, baker, chef,

cook, doctor, golfer, lawyer or teacher. The

duration of each time slot is either one hour

or 0.5 hours and there is no gap between two

slots. There are not more than two slots of the

same duration in a sequence. Every member

of a family is related to D in some way. The

number of male members is equal to the

number of female members of the family.

Either both or none of the parents of a person

are alive. D does not have either an uncle or

an aunt and the baker talks immediately

before the cook. H is not G’s sibling who is an

artist and the teacher’s only daughter talks

immediately before him taking a 0.5 hours slot.

F is unmarried and F’s only sister-in-law is a

chef who talks about her profession in the

fourth slot. A being the olders male member

in the family finishes his slot at 2:00 p.m. F is
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D’s sister who is a lawyer by profession and

the doctor talks immediately after B. There is

only one slot between D’s daughter and D’s

brother. The number of 0.5 hours are slots

equals of number of 1 hour slots. E is the

mother-in-law of one who talks immediately

after D’s brother and talks in first 0.5 hours

slot. The time duration of slots of chef and

doctor is not the same. The time duration of

slots in which D’s only daughter and only

brother talk is the same. The first and the last

slot start at 9:00 a.m. and 2:30 p.m.

respectively. Three people talk between D’s

mother and his father, who is a teacher. A

takes the last one hour slot and talks in D’s

adjacent slot. D’s daughters talks about her

profession in the first slot and G’s slot starts

after 12:00 p.m. and G is C’s nephew.

74. Consider the following statements:

I. The cook talks in the last slot.

II. D’s wife ends her slot before B.

III. The duration of slot of C and A is the
same.

Select the correct answer using the code
given below:

(a) Only I and II are correct

(b) Only II and III are correct

(c) Only I and III are correct

(d) I, II and III all are correct

75. In which slot the golfer talks about
his/her profession?

(a) 10 : 30 – 11 : 30

(b) 12 : 30 – 01 : 00

(c) 10 : 00 – 10 : 30

(d) 11 : 30 – 12 : 30

76. How many people talk between D’s son
and the doctor?

(a) 4

(b) 3

(c) 5

(d) 2

77. Consider three statements and three
conclusions given below. You have to take
the statements to be true even if they seems
to be at variance from commonly known
facts. Read all the conclusions and then
decide which of the given conclusions
logically follows from the statements,
disregarding the commonly known facts.

Statements:

I. Some mobiles are printers.
II. No printer is a scanner
III. All computers are printers
Conclusions:

I. Some mobile being computers is a
possibility.

II. No computer is a scanner
III. All printers are computer
Which of the above conclusions is/are
correct?
(a) Only conclusion I
(b) Only conclusion II
(c) Conclusion I & II
(d) All conclusions

78. Find the missing terms from the below
mentioned terms?

0 2 ?

9 7 11

5 3 6

4 2 1

(a) 1

(b) 3

(c) 4

(d) None of these
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79. Eight political parties, AP, CP, DK, JM,

IC, NP, RD, SP hold a party meeting for

planning for upcoming LS elections 2024.

Each party is represented by a leader. In

how many ways they can be seated

around a round table for the conference

subject to condition that AP & IC leader

do not sit next to each other?

(a) 6! *2

(b) 6! *5

(c) 7! * 2

(d) 7! - 6!

80. Consider the following statement and
conclusions:

Statement:

The multiplication of AD4 × E = A206.
where A, D and E are natural number.

Conclusions:

I. The value of D is 9.

II. The value of (A + D + E) is 13.

Which of the conclusion/conclusions
is/are correct according to the statement?

(a) I Only

(b) II Only

(c) Both I and II

(d) Neither I nor II

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